PARTS LIST
e # *
(Add a Check (V) to the box "] to indicate receipt of each part.) (] NFT() BRI ERZ )
T 2 ! 3 X
: TABLE BODY O : LEGS-LEFT O : LEGS-RIGHT
a5 / Ji -2 / I M-45
1438%756%400mm AR\ 670%100*80mm R\ 670%100%80mm
1 PC 2 PCS 2 PCS
E 1 PLAYER ROD @ E 2 PLAYERS ROD 3 PLAYERS ROD
LAKE % I JN
1106mm 1265mm 1148mm
2 PCS 2 PCS 2 PCS
8 ' 9 !
5 PLAYERS ROD O ! BEARINGS O : BEARTNG NUTS
SAH A % W& / AR
1010mm Q 05748, 5mm X 576mn
2 PCS 16 PCS 16 PCS
| 12 |
SCREWS ) BOLTS \ LEG LEVELERS
ORI - )
Sk IBET L A
F4*35mm 10*65mm (#9050mm
4 PCS 16 PCS 4 PCS
SCORER
o NOTE: There are 6 sets of Bearings (#8 & #9) have
H) e already been attached on the Table Body(#1).
g F 33 28 E
SO0 IER I oR: ik #8&#9) HOELIITHS (#1) L.
2 PCS

ADDITIONAL PRE-INSTALLED PARTS.

Hi B o fF K

(19 : ®, | © :
| WRENCH . SOCCER BALLS . LUBRICANT
% PSR @ e i
6mm (35mm 20m1
1 PC 8 PCS 1 PC
@ : ROLL PIN @ : ROLL PIN : PLAYER
Wy # 7 il
4. 2%35mm 4. 2%28mm 108*35mm
6 PCS 2 PCS 2 PCS
20 - 21 ! 22 '
O ' BOLTS Q ! [ROLL PIN PUNCH Q : Mé,{ﬁﬁ{g“
s B T ‘
(G B i o BT TR FERLEE B
10*65mm 4*80mm
2 PCS 1 PC tre

P.1




ASSEMBLY INSTRUCTIONS:

We recommend that two adults work together to assemble this table.
+ The table must be turned over before assembling its Legs, then turn it
over again to assemble player rods .

. we suggest that you use the packing EPE as a clean flat work area to
protect the table.

&)

=D

yO)

N
o f

% % W
AT A LA SRR AR A — R R
BENER A S BIERGEM, JR R

- BT UEIE EAEATRF e EAE ) TAE IR PR G

12

| —®

CABINET DO NOT HOLD THE LEGS
GABINETE NO SOSTENGA LAS PATAS

DO NOT LEAN THE

o TABLE ON ITS LEGS
CAUTION: '{wo strong adults are recommended ;‘Og-?EKGB:E NO APOYE LAMESA | [ ¥4 5% : st b 4 LA 3ioH: (9 g 48 A 1=k B Bk
1. Lifthe tabe o he graone. " 2> 1™ LAMESA / EN SUS PATAS 1. JRERE AT
2. Tumn the table over. 2 fj}ifgzﬁj DA B
=S ' SRR

3. Place it on all four feet at the same time on the ground.

FIG. 1: LEG ASSEMBLY Al

* Attach the Legs (#2 & #3) between the Side and End Aprons with four .
Bolts (#11) per Leg as shown in Fig.1.
Use the Allen Key (#14) provided.
NOTE: Please twist the four Bolts(#11) into one leg at the same
schedule when you assemble the Legs . (Don’t twist the Bolts very
tightly atonce .).

« Insert the Leg Levelers (#12) into the bottom of the Legs (#2 & #3) . .
See Fig.1.

« Lift the table assembled from the floor by two strong adults,turn it over, | *
and set table on its legs in the location where you will play.

P.2

1: B

IR s RS (F11) A (2883 ) 23R4 B B (F DY /AR Lo
(A TH (#14) )

VERR: (ESCHRINT, IEOLRE RER U ($11) , I
o B VAR

UTE LR - 4 A (312) 22 A (2853 i) T

TS LA B B A 24T IRk B AT R RS BTk e LE
FERIHTT o




FIG. 2: PLAYER/ BEARING / SCORER ASSEMBLY

Carefully slide the grip end of Player Rod (#6) through the inside of
Side Apron to outside ( untill the Player touch the Side Apron ), then
slide another end of the Player Rod ( #6 ) through the directly op-
posite hole in the opposite Side Apron .

Slide the Player Rods(#4-#7) through the Side Apron in the order sh-
own . See Fig .2.

Attach all the Bearings in the accessory kits to the Side Aprons as sh-
own Bearing (#8) in Fig.2.

Attach the Scorer Assemblies(#13) in the middle of each Top Slat Bo-
ard using two Screws(#10) per Scorer.See Fig.2 .

Spray the Lubricant (#16) in a clean , soft cloth first , then use this
cloth to wipe the Player Rods . See Fig.3 .

ORDER OF PLAYERS
/ ORDEN DE JUGADORES
A S BT R

@ -Biack e

O = YELLOW. i#ifs

T =
L LSRR 1.

IMPORTANT!

EACH TEAM SHOULD BE HEAD
UP AND FACING THEIR OWN
GOAL

K20 IRFF BRI aRiaede

o WER (#6 ) MFTR: SRR TFER BN SN (BN
HORAIRE 20 AR)  SRIEHE BRI Y 55— 2 i B R S L

o B BRFF a7 ) R BUBUTAR R U -

o I AR GR8) B s A TRC P (L rh ) BT AR e 0T

o WERH TR HBRET(#10) B8R ($13 ) 2RI L AEAE A PR (2 E

o WE 3 TR SERRREEE (#16) WHRAE T IA T, B X DA 2
BB YR

TABLE MAINTENANCE (BREF4EH)

TABLE Keep your table covered . If there is dust on the playfield or the aprons , use a vacuum or wipe with a clean , soft cloth to
SURFACE remove . Do not sit on the table and do not use the table outside .
(FReAFRTH) FERFIIE, WERIPR G  WRBRAKEAK, FRARER TR R L. WARARIRE £, FEE
EIMETERE -
Occasionally wipe the rods with a clean , soft cloth . Never lift the table by the rods . Do not spin or press the rods too
agggressively , as this may cause damage . We recommend the use of lubricant to wipe the Player Rods and Bearings from
RODS the outside of the game so as not to drip onto the playfield .
CKIT) T E I T AT IR, TRERE IAZRERET o NSOGB TR BOERRAT, B FE R REIAER G
FATREBUD T M EAERAT A AR AL OBAEIRGIMUESL, DU m e ) .
Check that the leg bolts are tight. When moving the table, lift table off of its legs and place it down squarely on the legs, do
LEGS
() not drag the table .
THIOR BRI R . SR G IR G, NEHEIRG .

P.3




<@

FIG. 4: PLAYER MAINTENANCE

Take down the Player Rod ,knock the Roll Pin (#17) out ,
then attach the spare Players and Roll Pin to this Player
Rod . See Fig.4.

Use the Roll Pin Punch (#21) provided .

GAME RULES:

1) To start play, flip a coin to see which team or player will serve first.

To begin, serve the ball through the side entry cup.
2) Pass and score by pushing and pulling rods and twisting grips.
Spinning the rods is considered illegal in tournament play. If playing
as teams (more than two players total), once the ball is served,
players may not change position on the rods until: one team scores;
a team requests a timeout (maximum 2 per game); the ball must be
served again; or between games.

3

~

A point is scored when the ball enters the goal. A serve, by the team
last scored upon, follows each goal. Teams change table sides after
each game.

4) Intentional jarring or tipping of table during play is illegal, and reaching
into the playing area during play is illegal (except for a dead ball).

5) Aball is considered a DEAD BALL when it has completely stopped its
motion or is unreachable by any player. If a ball stops between the
goal and the two-man rod, then it is put back into play by placing it
in the corner that is nearest the dead ball spot. If the ball completely
stops anywhere else on the playfield between both two-man rods, it
is put back into play with a serve by the team that originally served
the ball.

6) If a ball leaves the playing area during play (other than through the

goals), the ball is considered OUT OF PLAY. The ball is returned to

play with a serve by the team which originally served the ball.

7) This game is meant to be played with either two of four players. We

recommend that all others should stand clear of the Table Playing

Area if they are not playing.

NOTE:The Game Rules have a little difference according to different
Tournaments .

P.4

. 4:

o HOPERAT, MEFTR AT TR (#20) BT F17) TR ke
ORI b

RO e

L 2% FH

1. GBI E ML WD R HER L, FFERIGXTIIAR, SRE MR D
KB TTIERTIE

2. T BRAT AR AL BIRATER . FBRRIGT T 17553 FELEEh 36360 B LA 12

BN -
SRR SE, B HURBA DA AT Ise e 8 S UG fE BBk el

WIRE (FHRZ 25050 sURAEP e A A S

S ERHEAIRI 1=k A3—5r, BRINEZHUE T LRy . 78RR
W7 354 e B b

4. (E LS PSRBT AR S BR SRR SO R o FELLFE P T 5Bk H Rl
BRULEBERNAT . (BRARSEER)

5. BRI LA RO HRICHERLE H DCSBERR N “BEER” o WIRAE S IHPEER h 537 78
TR HLNFFGE TR A IR AR A B TR 5 BT B A R o

6. Bk —ITATHIER R, HXd T T H AN G DD A Bk

7. A ] A R PR T X B RATE AR A SUR B L 28 XA,
LAG B0 L2 o

TR e R A R ZE R AT AN o





